

English <u>Project-</u>

paste the five examples of 3 types of nouns on the chart paper including their names .common noun, proper noun, collective noun

#### <u>Assignment-</u>

learn antonyms.

Write and learn application for sick leave.

learn essay on my favourite season .

·Fill the cursive writing book daily ( p.no. 1 to 40 ) with beautiful handwriting.

Write and learn homophone (pg no.121) in your notebook.

## Hindi

#### Project-

बतख जल और थल दोनों पर रह सकती है , इस तरह के जंतुओ को उभयचर कहते है , कुछ प्रमुख उभयचर जंतुओ के चित्र एकत्र करके चार्ट पेपर पर चिपकाइए । पेज नं0 23

#### <u>Assignment-</u>

- विलोम शब्द लिखो व याद करो पेज नं0 46 (नया से रात तक)
- पर्यायवाची शब्द लिखो व याद करो पेज नं0 44 (मित्र से इच्छा तक)
- अनेक शब्दों के लिए एक शब्द पेज नं0 53 (मासिक से दैनिक तक)
  लिखो व याद करो ।
- निबंध मेरे जीवन का उद्देश्य लिखो व याद करो पेज नं0 78
- भाषा सुलेख पेज नं0 1 से 40 तक
- प्रतिदिन एक पेज भरे तथा प्रतिदिन दिनांक तथा गृहकार्य डालें सुंदर लेख में लिखे अन्यथा उसे दोबारा लिखना पडे़गा ।
- •

Maths

<u>Project-</u>

DRAW AND NAME SOME OBJECTS FROM YOUR SURROUNDINGS IN THE SHAPE OF A CUBE, CUBOID, SPHERE, CONE AND CYLINDER. (DO THIS PROJECT ON A CHART PAPER OR MAKE A POSTER.

#### Assignment-

·Learn table 12 to 20.

·Learn square table 1 to 15

Square 1 to 15 Cube 1 to 10

1×1	1	13	1×1×1	1
2×2	4	2 <sup>3</sup>	2×2×2	8
3×3	9	3³	3×3×3	27
4×4	16	4 <sup>3</sup>	4×4×4	64
5×5	25	5³	5×5×5	125
6×6	36	6 <sup>3</sup>	6×6×6	216
7×7	49	7 <sup>3</sup>	7×7×7	343
8×8	64	8³	8×8×8	512
9×9	81	9 <sup>3</sup>	9×9×9	729
10×10	100	10 <sup>3</sup>	10×10×10	1000
11×11	121			
12×12	144			
13×13	169			
14×14	196			
15×15	225			
	2×2 3×3 4×4 5×5 6×6 7×7 8×8 9×9 10×10 11×11 12×12 13×13 14×14	2×2    4      3×3    9      4×4    16      5×5    25      6×6    36      7×7    49      8×8    64      9×9    81      10×10    100      11×11    121      12×12    144      13×13    169      14×14    196	2×2    4    2³      3×3    9    3³      4×4    16    4³      5×5    25    5³      6×6    36    6³      7×7    49    7³      8×8    64    8³      9×9    81    9³      10×10    100    10³      11×11    121    12×12      12×12    144    13×13      14×14    196	2×2      4      2 <sup>3</sup> 2×2×2        3×3      9      3 <sup>3</sup> 3×3×3        4×4      16      4 <sup>3</sup> 4×4×4        5×5      25      5 <sup>3</sup> 5×5×5        6×6      36      6 <sup>3</sup> 6×6×6        7×7      49      7 <sup>3</sup> 7×7×7        8×8      64      8 <sup>3</sup> 8×8×8        9×9      81      9 <sup>3</sup> 9×9×9        10×10      100      10 <sup>3</sup> 10×10×10        11×11      121      12×12      144        13×13      169      4      4

- Learn measurement of time ( p.n. 115 to 122 )
- Learn solid shapes names and plane shapes

Science <u>Project-</u>

SAW A PLANT SEED IN COTTON OR SPONGE AND OBSERVE ITS GROWTH, CLICK PICS AT EVERY STAGE (MINIMUM 5 PICS) PASTE PRINT OF ALL PICS ON A4 SHEET ALONG WITH GROWING PLANTS .

### <u>Assignment-</u>

•Write and learn all planets names ·Write and learn difference between living and nonliving things ( page no. 8 ) and learn parts of digestive system ·Write and respiratory system from figure P.no. 38

Nose

lungs

Digestive system respiratory system

- Mouth
- Oesophagus
  Windpipe
- Stomach
- Liver
- Small intestine
- Large intestine
- anus

- Excretory system
  - Kidney
  - Urinary bladder
  - Ureters
  - Urethra
  - Adrenal gland

Write and learn 10things that kept in first aid box

SST <u>Project-</u>

ON THE POLITICAL MAP OF INDIA WRITE STATES AND THEIR CAPITALS AND COLOUR THE STATES ACCORDING TO THEIR POLITICAL PARTIES ( ON THE CHART PAPER )

### <u>Assignment-</u>

.Write and learn all states and their capitals with their state CM ( chief minister) •Write and learn union territories with their capitals .

Computer

# <u>Project-</u>

### PASTE THE PICTURE OF TYPES OF MONITOR ON A4 SIZE PAPER AND WRITE 2 -2 POINTS ABOUT THEM

G.K

WRITE AND LEARN ALL RIVERS AND MOUNTAIN RANGES OF INDIA IN INCREASING ORDER AND STATES AND THEIR CAPITALS ( IN G.K. NOTEBOOK ) 🜞 Happy Summer Holidays! 🌻

Jeewan Jyoti Chandra Kamal Academy

Dear Students and Parents,

The warm sun, cheerful breeze, and the joyful spirit of summer are here!

We are delighted to inform you that the Summer Vacation will be observed from:

🃅 17th May 2025 (Saturday) to 30th June 2025 (Monday)

👫 School reopens on 1st July 2025 (Tuesday)

School Timings (Effective from 1st July 2025):

- Classes 1st to 8th 🕑 7:40 AM to 1:50 PM
- Nursery to UKG 🕑 8:30 AM to 12:30 PM
- Play Group (PG) 🕑 10:00 AM to 12:00 Noon

A Special Message for Our Dear Students Make this summer a Lovely journey of:

- Learning through books
  - 🤭 Exploring creativity and hobbies
  - Spending time with loved ones
  - 😊 Helping your parents
  - 🧘 Relaxing and staying healthy

We'll miss your smiles and energy but we know you'll return even brighter!

Stay Safe | Stay Happy | Keep Growing With Warm Wishes,

Jeewan Jyoti Chandra Kamal Academy Family

